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1. A dishonest dealer defrauds to the extent of

x% in buying as well as selling his goods by

using faulty weight. What will be the gain per-

cent on his outlay?            SSC (T-II) 2016

x% 

(A) 

2x
2x %

100
(B) 

210
x %

x

  
 

(C) 

2x
%

100
(D) 

2x
2x %

100

2. A dishonest shopkeeper makes a cheating of

10% at the time of buying the goods 10% cheat-

ing at the time of selling the goods. Find the

profit %.

10% 10% 

% 

(A) 25% (B) 28%

(C) 21% (D) 32%

3. A dishonest dealer professes to sell his goods

at 10% loss. But he uses a false weight of 800

gm instead of kilogram weight. Thus his profit

percentage is

(A) 12% (B) 
111
2 % (C) 

18
2 % (D) 

112
2 %

4. A person sells some rice 20% more than cost

price. But he gives only 900 gm rice instead

of 1 Kg. Find the profit or loss percent.

(A) 32.33%  gain / (B) 33.33% gain/

(C) 31% gain/ (D) 33% gain/

5. A shopkeeper promise to sell his goods at x%

profit but he uses 20% less weight thus gain

37
1

2
%. Find x.

x% 

20% 37
1

2
%

x 

(A) 10% (B) 9% (C) 11% (D) 15%

6. A shopkeeper promise to sell his goods at

x% loss but he uses 20% less weight than

gain 20%. Find x.

x% 

20% 20% 

x 

(A) 8% (B) 12% (C) 11% (D) 4%

7. A merchant claim to make profit of 12.5% on

his sales but actually makes 25% by using false

weight when he professes to sell 1 kg, how

much does he actually sale?

12.5% 

25% 

(A) 800gm (B) 900gm

(C) 920gm (D) 950gm

8. A trader weights 10% less than it should be.

still the trader marks up his goods to get a profit

20% what is the markup on CP?

10% 

% 20% 

% 

(A) 6% (B) 10%

(C) 8% (D) 15%

9. A shopkeeper marks his goods 40% above

the CP and gives 25% discount to customer.

At the time of selling the goods he uses 800

gm weight instead of 1 kg. Find his profit %.

Profit & Loss
(Type-6)
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40% 

25% 

800 %

(A) 22.25% (B) 23.23%

(C) 31.25% (D) 33.25%

10. A shopkeeper marks his goods 20% above

the CP and gives 10% discount to the cus-

tomers. At the time of selling the goods he

uses 900 gm weight instead of 1 kg and at

the time of bying he uses 1100 gm instead of

1 kg. Find his profit.

20% 

10% 

1 900 

1 1100 

% 

(A) 32% (B) 31%

(C) 33% (D) 35%

11. A trader sells his goods to a customer at a

profit of x% calculate on SP besides it he cheat

by 10% while he buying and gives 825gm in-

stead of 975gm his overall profit is 62.5% .

Find the value of x?

x% 

10%

975 825 

62.5% x 

(A) 25 (B) 20

(C) 15 (D) None

12. A trader marks up his goods by 80% he al-

lows a discount of 20% he cheats 16.67% while

buying as well as he cheats 25% while selling

also He gives 1 article free with every 20 ar-

ticle. find profit % ?

80% 20%

16.67% 

25% 20 

1 

(A) 125% (B) 100%

(C) 135.2% (D) 120%

13. A dishonest milkman professes to sell his milk

at cost price but he mixes it with water and

thereby gain 12.5% then, find the ratio of milk

and water in the mixture.

12.5%

(A) 7 : 1 (B) 9 : 1

(C) 8 : 1 (D) 7 : 2

14. A milkman after mixing water to milk sells the

mixture at the CP of milk, if he gains a profit of

22.5% then find the amount of water received

by a customer if he buys 196L of milk (mix-

ture)?

22.5% 196 

(A) 36L (B) 11L

(C) 28.5L (D) 34L

15. A milkman mixed some water with milk to gain

9
11

11
% by selling the mixture at the cost price.

Find the concentration of milk in total mixture.

9
11

11
% 

(A) 68.5% (B) 89.43%

(C) 73.17% (D) 84.16%

16. A milkman mixes water with milk he sells the

mixture at 20% higher price than CP of pure

milk thus he gains 30% find the ratio of milk

and water (in mixture)?

20% 30% 

(A) 25 : 2 (B) 30 : 7

(C) 50 : 6 (D) 12 : 1

17. A milkman mixed water into milk and marked

the adulterated milk 25% above of pure milk.

If he gains a profit of 37.5% then find the

amount of water in 17.6L of the mixture?

25%

37.5% 

17.6 

(A) 1.6L (B) 1.76L

(C) 2.2L (D) 4L
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18. A milkman sells the milk at the cost price but

he mixes the water (CP of water is 1/10th of

CP of pure milk) in it and thus he gains 20%.

Find the ratio of water to milk in mixture?

1/10 

20% 

(A) 5 : 22 (B) 5 : 27

(C) 5 : 17 (D) 1 : 11

19. A milkman mixes water and milk in the ratio

1 : 2 . If the cost price of water is one-tenth of

milk and the milkman claims to sell the milk

at a profit of 20%, then what is his actual net

profit percentage ?  

1 : 2 

1/10 20

(A) 72% (B) 82% (C) 79% (D) 68%

20. A milkman professes to sell his milk at 28.56%

discount but he mixes some water in it thus

he gains x% profit the ratio of water to milk in

mixture is 36 : 55. Find the value of x?

28.56% 

x% 

36 : 55 x 

(A) 18.18 (B) 32.5

(C) 30 (D) 40

21. In order to get 14.28% profit a milkman mixed

water into the milk and sold the mixture at a

discount of 11.11% find the concentration of

water in the mixture?

14.28%

11.11% 

(A) 22.22% (B) 25% (C) 12.5% (D) 20%

22. A milkman mixes water with milk. He sells the

mixture at 25% discount (25% less price than

CP of pure milk) thus he gains 20%. In what

ratio he mixes milk with water?

25% 

25% 20% 

(A) 1 : 2 (B) 7 : 6 (C) 4 : 3 (D) 5 : 3

23. A vessel contains some amount of milk with

16 litres of water. The price of the solution is

90paise/litre. If the price of the pure milk is

108paise/litre, then find out the amount of

milk in the vessel?

16

90 108

(A) 80 liter/ (B) 50 liter/ 

(C) 30 liter/ (D) 55 liter/ 

24. Sunil sells milk after adulterating x litres of

pure milk with 0.5 litres of tap water. If he

sold milk after adulterating x litres of pure milk

with 0.5 litres of mineral water instead, his

profit would reduce by 20%. What is the cost

of pure milk per liter? (The cost of mineral

water is ` 12 per litre and tap water comes for

free. Sunil always sells at cost price.)

x

x

`

(A) ` 30 (B) ` 60

(C) ` 45 (D) None of these

25. A milkman mixes water and milk in a con-

tainer in the ratio of 3 : 7. He sells the mixture

at ` 20/litre. After selling 200 litres of mix-

ture, he mixes another 60 litres of water and

then ratio of water and milk becomes 9 : 17.

The new mixture is sold by the milkman at

the rate of ̀  10/litre. If the cost of the milk is `
15/litre   then find the profit of milkman in

the whole transaction?

3 : 7 

` 20/

200 60 

9 : 17 

` 10/ ` 15/

(A) ` 2500 (B) ` 2200

(C) ` 2575 (D) ` 2075
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Solutions
1. (A) % Profit = x + x + 

x x

100
 = 

2x
2 x

100

2. (C) % Profit = 10 + 10 + 
10 10

100
 = 21%

3. (D) CP SP

800

1000
:

90

100

= 8 : 9

% Profit  = 
1

8
× 100 = 

1
12 %

2

4. (A) CP SP

900

1000
:

120

100

= 3 : 4

% Profit = 
4 3

100
3

 = 
1

33 %
3

5. (A) Let Marked CP = ̀  100

Actual CP = 100 × 
80

100
 = ` 80

Actual SP = 80 × 
11

8
 = ` 110

So, x% = 
110 100

100
× 100 = 10%

6. (D) Let Marked CP = ̀  100

Actual CP = ` 80

Actual SP = 80 × 
120

100
 = ` 96

So, x% = 
100 96

100
×100 = 4%

7. (B) Let Marked CP = ̀  100

Actual SP = ` 112.5

Actual CP = 
112.5

5
× 4 = ` 90

So, He actually sold = 
90

100
× 100 = 900 gm

8. (C) Let Marked CP = ̀  100

Actual CP = 100 × 
90

100
 = ` 90

Actual SP = 90 × 
120

100
 = ` 108

So, Mark up% = 
108 100

100
× 100 = 8%

9. (C) Let Marked CP = ̀  100

Actual SP = 100 × 
140

100
× 

75

100
 = ` 105

Actual CP = 100 × 
800

1000
 = ` 80

% Profit = 
25

80
× 100 = 31.25%

10. (A) Let Marked CP = ̀  100

Actual purchase = ` 110

Actual SP = 100 × 
120

100
× 

90

100
 = ` 118.8

Actual CP = 100 × 
900

1000
= ̀  90

% Profit = 
28.8

90
×100 = 32%

11. (A) Let marked CP = ̀  100

Actual purchase = ` 110

Actual CP = 
825

975
× 100 = ` 

1100

13

Actual SP = 
1100 13

13 8
 = ` 

1100

8

So, 110 × 
100 x

100
 = 

1100

8

 x = 25%

12. (C) CP SP

6 × 
3

4
: 7 × 

9 4

5 5

= 25 : 56
Total CP : SP

25 × 20 : 56 × 21
= 125 : 294
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% Profit = 
169

125
× 100 = 135.2%

13. (C) ATQ, 12.5% = 
1

8

So,  M : W = 8 : 1

14. (A) ATQ, 22.5% = 
9

40

So, M : W = 40 : 9

So, In 196 ltr. mixture, water = 
9

49
× 196

= 36 ltr

15. (B) ATQ,
9 13

11 %
11 110

So, M : W = 110 : 13

% Milk = 
110

123
× 100 = 89.43%

16. (D) Let Pure Milk = ` 100 ltr

Remaining Milk = 120 × 
10

13
 = 

1200

13
 ltr

Water = 100 – 
1200

13
 = 

100

13
 ltr

So,  M : W = 
1200

13
 : 

100

13
= 12 : 1

17. (A) Let Pure Milk = 100 ltr

37.5% = 
3

8

Remaining milk = 125 × 
8

11
= 

1000

11
 ltr

Water = 
100

11
 ltr

So, M : W = 10 : 1

water = 
17.6

11
 × 1 = 1.6 litre

18. (A) Let price of milk = ̀  10/ ltr
So, Price of water = ̀  1/ ltr
Amount of milk = M ltr
Amount of Water = W ltr

ATQ,         (10M + 1 × W) × 
120

100
 = 10 (M + W)

30M + 3W = 25M + 25W
 W : M = 5 : 22

19. (A) Let amount of milk = 2 ltr
Price of milk = ` 10/ ltr
Amount of water = 1 ltr
Price of water = ` 1/ ltr
Actual CP = 2 × 10 + 1 × 1 = ` 21

Actual SP = 3 × 10 × 
6

5
 = ` 36

% Profit = 
15

21
× 100 = 72% (Approx)

20. (A) Let Milk = 55 ltr
And water = 36 ltr
So, Total Mix. = 91 ltr
ATQ,

91 × 
5

7
 = 55 × 

100 x

100

 118.18 = (100 + x)
 x = 18.18

21. (A) ATQ,

1 1
14.28% , 11.11%

7 9

Let Total mixture = 63 ltr

Milk = 63 × 
8 7

9 8
 = 49 ltr

Water % = 
14

63
× 100 = 22.22%

22. (D) Let Total mixture = 100 ltr.

So, Pure milk = 100 × 
3 5

4 6
 = 62.5 ltr

So, Water = (100 – 62.5) = 37.5 ltr.
M : W = 62.5 : 37.5 =  5 : 3

23. (A) By Alligation

Milk Water

108 0

90

90 : 18

5 : 1

So, 1  16 ltr.

Milk = 5  
16 5

1
 = 80 ltr.

24. (B) Let, Price of pure milk = ̀  P/ltr
ATQ,
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Mix with tap water
Profit = (x + 0.5) P – (px + 0.5 × 0)
= 0.5 P
Mix wish mineral water Profit

= (x + 0.5)P – (Px + 0.5 × 12) = 
P

6
2

So, 
P 4 P

6
2 5 2

 4P = 5P – 60
P = ` 60/ ltr
So, price of pure milk = ` 60/ ltr

25. (D) Original mixture  : 
w

m
 = 

3

7
      ....... (1)

Sold 200 ltr.  60 ltr. water + 140 ltr. milk
New mixture : Add 60 ltr water into mixture.

w – 60 60

m –140
 = 

9

17
                     .......(2)

by (1) and (2)
w = 315,                m = 735
New mixture w = 315,        m = 595

total = 910 ltr.
Profit = 200 × 20 + 910 × 10 – 735 × 15 = ` 2075


